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SECTION - A/¥ - A1/ & - MYt/ - w@i/& - W

Chobse the cortect answer :
T SeA! iR Sferedt:
u% SEaft @R 713

W frrraE! ama g
I TR g :

/:/thch of the following is an irrational number ? 1
: TR (FIOT ALA FAITT 2

fare W FoUnD Sefeom?
TR TR Efara ey ?
Frfafaa o @ #1 9@ vem sfeig gen @2

(a) 0.142857142857142857 ......... ()

@ = , (d)

/Z/COI'ls:der the following pairs o@near equations : 1
() 2x-3y=8, 4x—6y= %

(i) 2x+3y—9=0, 4 ~18=0

Choose the correct I@laﬁve :

(@) The pair in (%%s no solution, whereas the pair in (i) has unique solution.

(b)  The pair i) has infinitely many solutions, whereas the pair in (ii) has no solution,
(¢) The pairs in (i) and (ii} have no solutions.

(d) The pair in (i) has no solution, whereas the pair in (i) has infinitely many solutions.
Teq (afS TR TEEAD! s 41

(i) 2x-3y=8,4x-6y=9

() 2x+3y—9=0, 4x+6y—18=0

oy Rty afy Sfaedt:

(2) (i) TURTER ST A1, Ry (i) RO SaSHT A ey |

b) (i) WEER ST LU FAME Seg, 8 (i) WRGR sy %

() (i) S (i) T @ISIZ T AZ |

(@) (i) RO ST A1y, TR (ii) TUACH ST SRR I W10 |

2l& VIR
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(3)

Rt tafis siomed STUIER B 2y,

(i) 2xr—3y=8 4xr-6y="7

() 2r+3y-9=0, dx+6Y~

B% Realb @m 718 - )

(a) (mwﬁ%u)m@ﬁ%wmu

) )Wﬁﬁﬁwwmﬁ@ ) TSI SR AR

(c) (i) 932 (i) ﬂﬁmwmﬁ'

) m@ﬁﬁamﬁmﬂﬁ e (i) TSS1TT Sty sress sty ST
a@mﬁwmam@’mﬂ' |

(i) 2x-3y=8, 4x—-6y=9

(i) 2x+3y-9=0, 4x+6y-18=0

o @nfe | 1 g |

(a) () Tfs e e, e (i) 9 T T wgers <)

(b) @)a'ﬂf‘-lﬁham%ftf:s’rﬁmﬂﬁﬂmﬁ 9T (if) = “af7 A i

(@) (i) R (ia) e X TR AEHETE

(d) () S ufT e T (i) 9 SR e dei w1

Pt e gt ¥ Al W e A

(i) 2x3y34x6y9Q®

(i) 2x+3y-9=0, 4x+6§

|# 9 F g Q},

(a) zrfﬁnmﬁég&ﬁ.mgmmwmsam

(b) W(i}*w%m%,mwwwﬁwa@

() T (1) 3 (ii) T & H¢ 7 )

(d) T (@) F R T T T@h g (1i) F 376 €@

18=0

‘3./'9113 product of the zeroes of 3x2+ 11x~2 is : 1
32+ 11x—2 3 A5 G0 a0
322+ 11x =2 -93 "I 967 sz
3x2+11x—2 {1 @’ W93 gRerER-
3x2 4 11x—2 % Y® B Y0R%E gy -

2 2 11 _n
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(4)

‘/"1926u‘term0f[ht" AP0, -4, -8, __'12 .
___________ is :
0, -4, -8 —12 . SRR & ﬂﬁﬂﬁ‘mzﬁmm_ﬁﬁa

0, -4, =8, =12 e BT A5ifST7 265 o T -
—4, -8B, =12, e, wﬁqfa wrmfafy 26 Ty figgay 1T -
APO, -4, -8 =12, . T 26 T Y m .
(a) -96 (b) -100 () -104 (d -108
Let ABC be a triangle such that AB= (x-1) cm, AC =2Vx cm, BC=(x+1) cm. Then :
@) A=90° ® B=90r
() C=90° (d) none of these
ABC @W AB=(x-1) cm, AC=2Vx ¢m, BC=(x+1) cm| CCICEM 2
(@) A=90° (b) B=90°
() C=90° (d) «iraET abre 453
ABC fagpred AB=(r—1) cm, AC=2Vx cm, BC=(x+1) cm | . O3 :
(a) A=90° (b) B=90°
() C=90° (d) BN 9IHS FT
ABC m@rfrgmfd AB=(x—1) cm, AC=2Vx ctn, BC= (¥ +1) cm 3= :
(a) A=90° (). B=90°
@ C=90° @) e st 7
AABC 3, AB=(x~ ])C@C V¥ cm ARBC=(x+1) cm ¥, @ :
(a) A=90° \Q (b) B=90°
© C=90° @Q @ A
6. e point (x, y) is equidistant from the points (7. 1) and (3, 5). Then: 1

(x, y) Rt (7, 1) &% (3, 5) Ry OO FORCE | (SR
(x, y) B%f5 (7, 1432 (3, 5) e b ST ST -
(xfy)mwtll)mﬂ(s,s)ﬁ@ﬁﬁﬁwmwwmwﬁ, ST
ﬁﬁ(x»y)maﬁﬁ,l)m(s,sjﬂmiu @

(a) x+y=2 (b) —x+y=2
() x-y=2 : (d —x-y=2
7. 8cosec’A—8cot?A="? 1
@ o0 ®) 1 ) 8 {d) 16
C2-81-B20-GM [ Contd.

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

L

(5)

8. Afower stands vertically on the ground. From a point on the ground,
7 away trom the foot of the tower, the angle of elevation of the top of the tower!

to be MY The height of the tower 1S !

which is 15 m
is found

e abt s Lewela @ & IR mmmwﬁﬁawgﬁﬁmﬂﬁ
fayaaar sgo1a Mffewa Bsa @19 30° T ' FEO THo! T

st sl 88 Seweiry FHoE ST sefta sy (T 15 AbR g s A1
aaft fa% e @EfGa Mtfrna 57 @1 30° g (o | Ssfa Twool AT

T T 2T s e < 1 2 R FaifeT 15 firgrf ST S ST
ST P el fufa farifs S @ T 300 ST | 2R e S
Wl W e AR S w ot & e foig @, 1 T WG g B 15 m T F, AT

¥ frER &1 T H0 30° | HAR A HEE

(a) 5V3 m (b) 15¥3 m (c)

9/.,W-hich of the following statements is correct ?
(b)

(a) Al circles are congruent.

(c) Al isosceles triangles are similar. (d)
5eq (@HT SfE 8% 7
(a) SENEE 3T FHW | (b)

(©) mmﬁmmﬁgc\g&ml (@)

ﬁﬁ@@ﬁ@'ﬁﬁfﬁaﬁ?®

(a) RGBT B2 (b)
() RBET fagee 7T (d)
TreTata wia e delr ?

(a) e AEAr ME |

(b) TR e R |

(0 e e sEfad ST T |
(d) T AT TR |
frfafan #F o SR ad ¢ 2

() it ga watmEw 89 €

) @it It wrEq A €

(© Bt wfgag P wwen 2 €

(d) Wt 3 atTEw e €

C2-51-B20-GM

All squares are similar.
All rectangles are congruent.

APCANAT I8 5T |
HETANAIT AR, AL |

FAQTET IR STPT
FIGQTAT W03 LMW |
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(6)

sector is :

Wmmmﬁm%@mmn OB 5y oot 07 -

gafba @es A MG TSI 0 0 | et el ST O

dgAf freara @ el @ 0 1 S@RF iy sireenfy SRR

v et o % R T T R KR T ¢ ) fuariz G 9 FY s 2t ;

/m/_fhe degree measure of the angle at the centre of 4 circle is 0. The length ofanarcof the 4

Bt Owr Orrr Orr
@ ®) T80 © 55 ) 350
Where r is the radius of the circle.
'S r T JSWR A |

T ¢ 751 @T0d [T |
A r 3 WEE G 9 @)
TRl r g9 &I e B

11. s each of volume 64 cm? are joined end to end. The surface area of the resulting 7
//%uel;rolf:l is
ATEH JFGA 64 cmd [IFTE YT G737 [T [ra FGA I L'l (BIfeTeore +Bamfer '
ﬁt—wmmcﬁﬁﬁ@fﬁwmmﬁ fFra seTarst AT XN, reretta

oIt 2 : N

mqmﬁWTﬂm [ A TRl Seafysl Safy wEeeEd SEE 0 dafaEg

3 TFh S

2 T, o @ e 1 S 64 e &, 3 e o] ) et T B e &

T W SH TS SR €

(a) 48 cm? (b) 64 cm? (c) 80 cm? (d) 160 cm?
é/’l’l‘lesum of the probabilities of all the elementary events of an experiment is : 1

b1 w1 sETET Arfie AhAE Seifed T 29
9FfG T rmm SeGE e Thare TSR TR et
AT SRS T 7fi SneTshT SterEr SRR S

ot sl o wRfe geiel @ wifeware % am ¥
(a 1 () 1.25 () 15 (d) 2
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L

“ SECTION'B/’I'WH‘W/‘@-WWH—W

13. Find the HCF and LCM of 6, 72{11}320 using the prime factorisation method. Is the 2
 product of the numbers equal t0 1€ Product of HCF and LCM ?

/ e BeeriEa RS 6, 72,1203 I8, wre .00, SfeTedT | ANIADE
o, o.1,8.-3 IR T 2T

e Sestdiaad Aators 6,72 120 T AN 3. v72 a8, @@ F@1 ALBISEN
oA, S1.o.8. 9ag d.A.@. -4 FITFETT ST § 2

e areTEfR fafrEr seas 6,72 ¥R 1202, an. @, smd g, an, . fag | SFARTEERE
R 2, o, § R g . . WS e wh e

@ 6, 72 3R 120 T avwea oG fafi gr1 HCR st LoM T #ifg ), o wemstl &
WHCN?RLCI\»;%;W#W%?

14. 5 and 7 pens together cost ¥ 50, whereas 7, pencils and 5 pens together cost 2
%‘fg.mf?nd the cost of one pencil and that of one pen.

5 Giet cﬁfﬁaawﬁrwwawmﬁﬂmﬁﬁ7wmﬁaﬁwsﬁrw
"I QFEA0! 46 U1 | QBT coifena] S1F Qb1 Feme Wi feu 2

5 fg coifrer wag 710 .éﬁm{msoﬁm,mﬁwﬁcﬁﬁaaaaﬁw
QTN W 46 D11 Q@G e @32 GFG FEE YT TS 7

7 5 AfT AR T 7 %ﬁﬁmﬁlﬁwﬁ;wmﬁ7ﬁﬁqﬁm#5tﬂﬁﬁﬂﬁ@
e SR 46 T A Ry T Wi S i ?
sﬁfiﬁm?mﬁm@a{ﬂzso%mﬁ?ﬁﬁaamsmrﬁmga@ue N
et o YT 991 Th e F o4 Jd Hifoe

}5/How many two-digit numbers are divisible by 57
qB1 SIeRIFTE e Rttt 5 wea Rsre?

oft SRR Foft 7 5 2t Rersy 7
T SRR T ST T AQereT 5 o el ?
3 i aelt fhat WEd 5§ faeg ¥ 2
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16. Fi e coordinates of the point which divides the line segment joining the pointg y
/g‘; and (8, 5) in the ratio 3 : 1 internally,

8, —3) 3@ (8, 5) R AWM @i 3. WWWWW AT fiey

F41 |
(4, =3) 9N (8,5)%?31’2?.'&75[? W@W3:]wmwwmm
fadfy |

@, -3}@(3,5)Mwﬁwwmﬁs;lﬂwwﬁaﬁmh
fom fegT

3q firg % P T FATC R G (4, - 3) 3ty (g, 5) ) T T YWES F A &
¥ 3.1 3@ A fawifom = §

1(7.(&!{( = 1—3, calculate sinA and cotA. (A is an acute angle.)

ﬂﬁsecA=E,smAWcotA£‘-‘f§TﬁTl (A @bt pmCaT)
12 S
S
>
A secA = 22, hﬁ\@&com fyef st (A 93f6 THIT)
12 Q
@$

i< secA = %,smmcom@ﬁ@rmaﬂm@wwm)

wﬁisecA=% 4 sinA 31K cotA @1 AF IR FITCI (A TF =FHI §)

}Mﬁat&/mﬂ Frefar /T ety gt/ /AT PP -

5cos? 60° + 4sec? 30° — tan> 45°
sin? 30° + sin2 60°
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M:ec 1A = cosec (A -20), find the value of 5 (4A is an acute angle) 2
T sec 44 =cosec (A—20°), A 4 fefy ¥ (aA aiy PR
af% sec 4A = cosec (A —20°) A 93 T el gy (4A 935 THTIT)
e sec 4A =cosec (A—20°) A fr e ﬁ@:” (4A 31 9 @3 @)
M sec 4A = cosec (A—Zoq)r-‘igf (4A TF =1 3my) ?, @ A A gE e

20. ve that,/ 291 31 Ta/ 2w ¥ TT/ PR ey fe/fag i 5 : 2

1 — cosH

- 2 _
(cosect — cotB) 1+ cosb

21. card is drawn from a well-shuffled deck of 52 cards. Find the probability of getting. 2
%?)“g a king of red colour

(i) a spade
SleTE fRegeTrar 52 fiet 4FT I OIRATSE fat «fer Bify Sfisar 14

(i) bt 38T 38T I,

(i) «OT BFIAF
AR SIfdeT fAda 41| Q
Q
SIASIE mammﬁ@%szﬁ@mmmﬁmcﬁm@awmu
e
@) 9o e T g&n

ATy TR TR 52 a9 faegfe M 9w faar SEE S

(@) T T i TS

(i) TE TR

Aaraf s g |
52wﬁaﬂaﬂimﬁwn§@n@ﬁgﬁmmmhﬁﬂaﬂmaﬁ
Fifea

() e 1 A

() THH P

[ Contd.
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(10)
SECTION'C/'“'W/SI_W/“_M/’““W

22. _Prove that V7 is irrational.

' AW 1 @ V7 iy |
o FRT @ V7 Setfaom
FRAM @i & V7 30 Tsimenfy )
fag Fife i V7 @ st ger ¢

State the Division Algorithm for polynomials, 3

“Uﬁrﬁ polynomial p(x) by the polynomial g(x), and find the quotient and the
remainder.

p(x)=x*-5x+6, g(x)=2-x2

e RewH Fam RfET Sy 3997
p(x) IZOMIGIE g(x) IZMIBIT 249 91, 1T Giorwe] SiE ST ol a7 4

p(x) =x*~5x+6, g(x) =g@
.

A4 faorea %@ﬁ Sl It

Q
p(x) IZMICE @% AlEl GTs FEI 932 SISTA 3 SISICY HT Fat |
p(x)=x*—5x+6, gx)=2-x2
fae@-Taierty srer TiAm faaamie 7@’
p(x) i g(x) fermrianall T, SR TR SR e fiegq |
p(x)=xt-5x+6, g(x)=2-x2
faver witfien T € ?
favTor Ueitfe o waRT 5, p(x) B g(x) ¥ T 3R VIt aen v s @t
p(x)=x'—5x+6, g(x)=2—x2
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9 . _
24. A fractipn becomes L if 2 is added to both the numerator and the denominator. If 3

[

. 5
3 is added to both the numerator and the denominator, it becomes 5 Find the fraction.

9
mﬁsmmaawmmwaﬂ_ozmﬁaﬁm@wmﬁl—lw T 17 SF ]

5 o
ATOIPIE 1S 3 WIS a1 7T, GﬂTe'KBTE W St Hef 47 |

9
tﬂﬁ@memmaaammwﬁawzmﬁwgmeﬂﬁﬁmmﬁmmeﬁ

5
Afsfoa 1t 3 w@rst a1 73, w1h z X Gt AT st

s forelt o % st S g A 2shsﬁmmﬂra€%€mﬁ%1 aft siw o T 2

3§30 fen g, A < @ &1 7 o

25. Solve /MR I/ AT/ WEGHAR g/ & FifT : 3

3x2--2\'61+2=0
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26. Sum of the areas of two SqUAares is 468 m2, If the difference of their perimetersis24m, 3
find the sides of the two squares.
707 35TF@a a1feaq cnsiva 468 m2 | T 3sfowg o AN Ar(®s 24 m, ICHT 'J_,SW
AR (als [{efy 1 |

90 asfrsrag a1faa @isiwa 468 m?2 | Hﬁamiﬁaqﬁaﬁmm24mi Isfowg
7foe arorafia s facfa sz
Wmmﬁﬁaﬁﬁmﬁm%smzlqﬁaﬁWWWWW
24 m, Ffeees WA AR SRR o |

<1 ol % QIhe A 468 m2 ¥ | A I o) 3 iR 24 m B, T A S BT Y W

wHifaa | O]
?ﬁ' 40
Wordmates of a point A, where AB is a diameter of a circle whose centre 3
=" is(2, -3)and Bis (1, -f~1).§\\®Q

&
QDT 89 T AB 1\@5 HAE (2.-3) JF BT AT (1, 4) T, A § GAF fAefy
. N mT 283
Fa1 @

9&fG J87 T AB | @FTHT TAIF (2, —3) 932 B -9T FAIF (1, 4) A, A -9F TAF

fadm T
W At @ AB | Tl araf o (2, - 3) SR B aafy farrn (1, 4) v A

graf faam g1
fiig A % Frdvior Wi Fifore, <& R AB TF 0 ¥ =0 R, foya g (2, - 3) 3 7 fiig
BE (1,41
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28. Find the sum of first 51 ter - ; WIIOSE Second and third te e 14 and 18 3
I Ims ar

BT FTwwe detfoq S W@a’-""‘*‘rﬁ‘lmuwm | SRS IR oUW 5151

g qsTe AT 47|

TG T Asifea fadtw Wae Toly o U @07 14 a2 18 | e e daw

5116 st@ csiwe fdfT T

m“ﬁﬁﬁw’ﬁﬁﬁmﬂmﬁm‘ﬁmmumw| e Sttty fifa
51 feRe®R g g |

39 AP & oM 51 91 F1 A @ HIA, T gat aiv e g s 14 a8

29. D and E are points on the sides CA and CB respectively of a triangle ABC right angled 3

!
C—%c Prove that AE?+BD?=AK2+ DEZ.
K\Q

Ascm&waz%@mm CA & CB I1Zo IN&FW D IF E q0t g armret

S
I A AE2+BD2§§I§2+DE2 i
$

ABC AN faQTe® £C sMW@IT| CA @32 CB e D 9ae E q¥i@rw it &y

21T @ @ AE2+BD?= AB2+ DE? |

D 3R E 3 ABC Ty et gy C o @Atart CA 3 CB 1 wmm wr fad

HIAM @A™ f AE2+ BD?= AB2 4+ DR2|

T T ABCmmCMﬂ%,ﬁgwaﬁCASﬂTCBWW:ﬁSDﬂT E feum ¥
fﬂ: ﬂﬁmﬁh— AE2+BD2=A82+DE2.§.I
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(14)
l/ua( the area of the triangle formed by joining the middle points of the sides of the 3
triangle whose vertices are (0, - 1), (2, 1) and (0, 3)
Qo fager Mty Rsfabis gmice 0, 1), (2, 1) I*
WTrrRll Steers Bl o fageitie wify Sfredt |
Qft fagrea My foafba gmm (o, -1, 2, 1) 9?2 O 3)
AT BET A IFW AW Fapoiiha oy @ 3@

03 fagenoid a7 fefate

| fagsios a2 feafba

w ettt fufa o Amemf amafy far (O, _.1),(2,1)311’!(0,3” arEr-aamfy
STy Aoy T FarRTa 2 dir s e R

W (0, —1), (2, 1) 3 (0, 3) T4 Pt 3% spnaif 3 mea-forgaAl & A et P 1
1 FfSQ |

}Ad the area of the sector of a circle with radius 4 cm and angle 30°. Also, find the 3
area of the correspondn%&@car sector. (use m=3.14)

4cmmﬁ‘q@q@\@raao @1 QBT QT FIeT FAfT ST 1 TS T TN
Wﬁ@ﬂiﬂﬂ (w=3.14 31 4R

4 cm FPTHTF GHTD U0 30° TR GG J3FeT FIfe Fyefyy Fear| oo S@et L0

Favate afer fada s (w=3.14 I $I)

4cmq’ﬁﬁwww30°ﬁﬁﬁmﬁ@ﬁlﬁwwl e AfA R

Feirfs Teee g | (=314 T )

4 cm BT ER TF 99 & PraEs F1 8% T4 TG, R gy 3008y, 9 A

P 7 AR M T F ) (=314 T T iy
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$a /9 -

SECTION -D /9 - T /T - g /g -

32 Solvg the pair of equations by reducing them to a pajr of linear equations. 4

o AfteRay e et TS B s

o s tomet @fie ANFIT RNET I S w0
TR WA & f gEenfl FHAYR S HereAr A g |
firer it 3 g 9 e wAFON & I § @ B F T F

1 1
_+_
Ix+y 3x-y

=3
4

T 1 Aas
2(3x + y) 2(3x—y)&$

NG
N
N
V e areas of two similar triangles are equal, prove that they are congruent.
qor o fargSw@ Ffer A 2/, 9 7]t 7 faage J01 O |

ot et fgrom ST I X, o gz @, frgen qfo o

T T AT TRTETa T ey, PRAT QT X Safur [ e
|

ﬂﬁﬁwﬁﬂﬁ#mmﬁmmaﬂmﬁqaﬁgﬁrmﬁfl
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r when the
pe 40m longe n 4
Wadow of a tower standing on a level ground is founft:f; ower. (T ake V3= 1.732)

Sun'’s altitude is 30° than when it is 60°. Find the height ©

gy @) 60° (T Ay
HIGhe WO Gmmﬂﬁwimﬁmﬁwﬁ{gﬂﬁ( o1 frcta T
Riaet z@, $5F @19 30° 2 (5 TIO0F 40 m @fy G B A ST
(V3=1.732 Ifer 4fedi)

o q 60° 2051 TS Y =,
HiE AWeR eﬂmmﬁmwwmﬁm@m,{c@w@

7 3|
&5 (@19 30° X071 B CATF 40 m T@H Bf =) Wmﬁcﬁ /
(V3=1.732 A0 4a0) .

60°. TP 30° e

40 m WA A1 AR sherga fegt | (V3 = 1,732 @A A1)

Wmﬂaﬁhm@'@ﬁhﬁﬁmwﬁﬂﬁﬂmmﬁﬁaﬁﬂﬁmﬁﬁmwm
TN 60° ¥ TEHL 30° D T 2 ﬁma’hﬁﬁﬁmw’\ml(%ﬂ-mﬂmm‘m

N

g\
&
M all the sidesofap gram touch 4 circle, show that the parallelogram is a rhombus. 4
Q
@$
oft VB AnEfed SBRPRE! T GOT JBF < IE, (YSTT (T TIBIFCOT @bt R |

fi 9afl AR RGN 79I B = 3@, oe @, Bt b

EEA

ft A femaaergf e sanfern AT @ i), fafe f ferreseear B <A

fag: Fiforg o ferelt 90 ¥ fora RIS O T ¢

C2-81-B20-GM ( Contd.

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

(17)

. Y :
Wﬁuﬂ a triangle similar t0 @ BIVEN triangle ApC with its sides equal to % of the 4

- A .
corresponding sides of the wiangle ABC. (Wrie yhe steps of construction.)

ﬁg

aaﬁ%ﬁgﬁmmw@“ﬁmﬁﬂww“ﬁtmmwmcm

@ﬁﬁﬁwg g A | (TP R el )

aTft e fags ABC -9d FpT 5% 93D fags: e w1 1t @7 IRSTET ABC

fagsioe SIgas ARJTETH g S T W (e s FUd)

N .
Q
mmam@cﬁMWﬁ@mmmmmﬁﬁm

ABC sr@if-aumfy wi@id ST % Al U | (3EAE SRR fer 1)

T R T BN ABC % TR T firgw &t 1o HHf R Yo B ABC F W

el 3 2 1 (T 35w 3 )
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SECTION - E /& - 41 /% - wray g - araret/ S = o

here a circular arc of radius 5

- f the shaded region in the f
37.  Fipdthe area of the shaded region in the figure below, WHe™s %0 b b ide 12 em as

cm has been drawn with vertex O of an equilateral triangl
centre.

b

oere foae smRIfte SIBAGR 31 Ny a3t s 12 cm IZT QBT ARZ fapEE
TR O & @5 Tt 43 6 em IR Wit g8y 1ot ST TR

ﬁm@mmwaﬁamﬁﬁwmwucmmﬂﬁﬂmﬁ@m
My 0 7 @9 IR 41 6 cm TP Qo T 511 ST R

mﬁmﬁuﬁmﬁmﬁﬁﬁﬁmﬁ&@mﬁucmmﬁﬁmﬁﬂam
st fafaft fa<d O & fire feamd aFm 6 om w'@Eft A SER SR i
e |

T ¥ raifRd I 1 Qe T19 FT, Tl Yol 12 om T TF GaTg S OAB & ¥
oaﬁﬁmmemﬁmz@&;mmmw@

N

OR /#f%ar / =3t /AT / reray

C2-51-B20-GM [ Contd.

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

(19)

A toy is in the form of a cone of radius 35 oy mounted on a hemisphere of same

radius. The total height of the t0y i 155 cm. Find the total surface area of the toy.
AB1 s[weT arE APIHTE 9B TR gorgs 35 cm TPTHTE QBT M1eFT o0 |
ST 35 So! 2’1 155 cm | IO 5 spbamiey vy 1 |

Q3T (el @3], [INLYT @I TN 9oz 3.5 cm yPIdyE @sft F A
Moet cyerAiGa b Swool A 155 cm | cxemifa auil sjpatfer facfr st
TR Gl 3.5 con @ G AR TEEE T © Eaft W gaE SHisEE TR |
Ferent T Shergdr 15.5 cm | Goet T oy Tsmty fagm)

T facd 3.5 cm 0 910l ©F OF & AR &}, S s6t B o 0@ il W
Fefe ¥ 56 fae #1 Syl S 155 cm 1 5 el @ wg yet de W
ST |

38. The median of the following da&s 525. Find the values of x and y, if the total frequency
is

SUE T T 525 |§§m$yanm®i%femnﬁqu\mﬂloo |

RTTE ST TUWT ETL55 | x 932y 93 T @3 I A (S Il 100

MR B @i W 5251 x R y 1 7 fega sfe M ke 100 S

ﬁ'ﬁﬁﬂﬁﬂ&ﬁ"@f§ 525 %1 dfe SRaRasi 1 A 100 §, @ x R y F WA W@

Fifea)

1 S ateT
T Swater
el G
Tt S

Class interval |0-100( 100-200|200-300 | 300-400 | 400-500| 500-600 | 600-700 | 700-800 | 800-900 | 900-1000| 800-900 [300-1000

Frequency 2 5 x 12 17 20 y 9 7 4 7
LILESIE

ITARFS!
NEUE D

e

~-000-
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